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INSTRUCTIONS TO CANDIDATES :

Read the following instructions before you answer the
questions. Answers are to be given in a SEPARATE OMR
ANSWER SHEET provided inside this booklet. Break the
seal and start answering the questions once asked to do so.

1. Flease write your ROLL NUMBER very clearly (only one
digit in one block) as given in your Admission Card.

2. There are 90 questions in this test. The questions are
arranged in the following order :

* Questions 1 to 35 belong to Social Science Subjects.
* Questions 36 to 70 are on Science Subjects.
* Questions 71 to 90 are on Mathematics.

3. Select the most suitable answer for each question and
completely darken the circle corresponding to the correct
alternative as shown below.

Correct Method Wrong Method

HDEOeD® | ®XO@®

4. All questions carry ONE MARK each.

5. There is no negative mark. Every correct answer will be
awarded one mark,

6. Do notwrite your name on any part of the question booklet
or an the answer sheet.

7. Rough Work can be done in the space provided at the end
of this Booklet.

8. The Question Paper will be given in the form of a Question
Booklet. There will be four versions of Question Booklets
with Question Booklet Alpha Code viz. A, B, C, D.

9. The Question Booklet Alpha Code will be printed on the
top left margin of the facing sheet of the Question Booklet.

10. The Question Booklet Alpha Code allotted to you will be
neted in your seating position in the Examination Hall.

11. If you get a Question Booklet where the Alpha Code does
not match to the allotted Alpha Code in the seating

position, please draw the attention of the invigilator
IMMEDIATELY.

12, Check whether the Alpha Code given in the Question
Booklet and the OMR Sheet are the same.

13. The Question Booklet Serial Number is printed on the top
right margin of the facing sheet. If your Question Booklet
is un-numbered, please get it replaced by new Question
Booklet with same Alpha Code.
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There are 90 questions in all. For each question
four alternative answers are given marked as (A),
(B), (C), (D). From these, find the most appropriate
lanswer. The number denoting the answer is there
in the answer sheet against the question number
ncerned. Darken the circle with Blue/Black Ball
en only. Record the answers thus in the OMR
,answer sheet only, Do not write anything in the
.questicm booklet except your Roll Number on the
' cover page and rough work in the space provided

for the purpose.

The Altamira cave is situated in :
(A) France (B) Italy
(C) Spain (D) Germany

2.  Which among the following is not a feature

of the Mesolithic age ?
(A)  Settled life
(B) Hunting

(C) Use of microliths

(D) Cultivation
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salogyElomalen oE. 1 moud asaEiw
alyemo mial EregEldd &0 je] dedloias enoud
ol 9aleworilal &olallanis. gEMEEBGD
@o|nl&»o0o OMR 9ameansadaildd mo@o
BRAUON(SIIM}e. BCol03iRB @RSl
suaslodg Hud cugld dlasges 00w
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1. @pdgodlo Mo mudief 6.1 oo :

(A)  (@oodday (B) pel
(C) Bl (D) =dads
2. aljaues @il glea il @ mWw)

wlanonemle malswamwgocme
@ ?

(A) audlocuome
(B) arugwos
©

O DCEleln@WEmBINS Hale@Olo

(D)  dsjadd]
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3.  The names of certain sites and their agesare [ 3. allal @ (MR6IBRIANS Baldidhglo @OOIRIOS
given below. Match them cortectly, ORI MOET 21)0I6S MElelaSiea®. @

wdlwow ewosdlaflenids.

Sites

Age B (P EBBCR & 08lo
() Bhimbetka (i)  Neolithic Age (@) @oseuasas (@) malm
odlelomwmo
(b) Bagor (iiy Chalcolithic (b) eruoexnod (i) @o@
> Age udlenayne
(c) Catalhoyuk-, (i) Palaeolithic (©) cloBennowiss (i) Ioafim
Age udlelomino
(d) Jarmo (iv) Mesolithic Age (d) modemo (iv) aup
wdlawine
(A (a)(ii), (b)-(iv), (c)-(ii), (d)-(i) (A)  (2)-(idi), (b)-(iv). (c)-(it), (d)-(i)
(a)-(iii), (b)-(ii), (c)-(i), (d)-(iv) - (B) (a)-(iii), (b)-(i), (c)-(i), (d)-(iv)
© (@), (b)), ()-(i), (d)-(iv) (©)  (a)-(idi), (B)-(i), (c)-(ii), (d)-(iv)
(D) (@)-@v), (b)-(iii), (c)-(i). (d)-(ii) (D)  (a)-(iv), (b)-(iid), (c)-(i), (d)-(ii)

4.  Identify the Harappan site from where the | 4. o™ cflaimsiimes emdal eidlay m‘:ﬂit'ﬁg:]ffﬁ

evidence of a ploughed field was found : MMM GblT30 dHOETIBETE .
(A) Chanhudaro  (B) Kalibangan (A) 21oMa0ieoeE0 (B) @oelleniomnddd
(C) Dholavira (D) Lathal (C) ewogoaln (D) ceoloEd
5.  The term ‘hieroglyphics’ means : " 5. ‘e&ane0o@ladlam’ agm alcewlend ;
: erd®oo

(A) Sacred picture ' (A) allewyany alliwe
(B) Sacred writing (B) afltejavmo®@ ag)eiow
(C) Large stone (C) oflemes vl

~ (D) Small plant (D) e2ldlw eais

ENG+MAL 4
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6, Which among the following is not a city in
Mesopotamia ?
(A) Ur (B) Uruk
(C) Shortughai (D) Lagash
7. The Sangam work ‘Akananuru’ belongs to
the category of :
Pathupattu
(A) thup
(B) Ettuthokai
(C) Grammar
(D) Mahakavya
8. Identify the main item of export from ancient
Tamizhakam to Rome.
(A) Cotton textile
(B) Iron tools
(C) Copper tools
(D) Pepper
9.  Which among the following was not a port
in ancient Tamizhakam ?
(A) Muchiri (B) Ur,
(C) Thondi (D) Vakai
10. Identify the first literary work in Sanskrit.
(A) Mahabharatha (B) Ramayana
(C) Rigveda (D) Samaveda
ENG+MAL
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aales eaiigesdd enamoegjogodl-
leel MEagPEne) op® ?

(A) od (B) &8
(C) cauodginowS (D) endedd

roceslo dheil@ow @pdamomd 9udeasim
cdleowo :

(A) alemygiog
(B) 0f)Sio@mION6E:
(C) «Qjoddemo
(D)

B3I \o

(oofin edlvemm) dlimie soddleaiwide
H@RIAA Oal®m wom amimialien
HEIENBOTT b,

(A) ooyl aer

(B) )Ml Sald0emstRcd
(C) eaimn] Saldnememred
(D) 0005

ajales  madigieecidd  (ao.afm
9S00 &0 mOBsUe @rgomiioyme

agmoiloyam; ?
(A) @yald
(C) emoerd

(B) o

(D) UOBE

Mo ymanilal aollenanqls ERRIODD

BHOOW HONSOMe.
(A) aanooemo  (B) mom0@emo

(C) gewiee (D) moaeGo
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11.

12.

13.

14.

The statue of Gomatheshwar is situated in
the state of :

(A) Punjab
(C) Tamil Nadu

(B) -Karnataka
(D) Maharashtra

Identify the correct pair from among the
followving :

(A) Bindusara - Maurya dynasty

(B) Ajatashatru - Nanda dynasty

(C) Kalashokan - Haryanka dynasty

(D) Mahapadmanandhan - Shishunaga

dynasty
The value of latitudes increases from :
(A) Both the poles towards1the equator.
(B) The equator towards both the poles.
(© South pole to North pole.

(D) North pole to South pole.

The basic objective of resource conservation :

(A) To promote the use of non-renewable

Tesources.
(B) Wise and judicious use of all resources.
(C) Reduce the use of renewable resources.

(D) To satisfy the needs of only the present

generation.
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15.

16.

17.

18.

19.

The unit for recording atmospheric
pressure :

(A) Farenheit
(B) Celcius
(C) . Inches
(D) Hectopascal

The major river flowing through Odisha :
(A) Mahanadi (B)
(C) Krishna (D)

Godavari

Kavery

The period of North-East monsoon season in
India.

(A) June to September

(]3} March to May

(C) October - November

December to February

Match the following :
(a) Basalt (i) Metamorphic rock
(b) Marble (ii)
(c) Limestone (iii) Igneous rock
(A) (&)-(i), (b)-(ii), (c)-()
(B) (a)-Gi), (b)~(i). (c)-(iii)
() (a)-(iii), (b)-(i), ()-(ii)

(2)-(i), (b)-(iid), (c)-(i)

Sedimentary rock

Identify the cultural map from the
following : '
(A)
(B) Weather map
(C) Relief map

(D)

Natural vegetation map

Land use map
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19,

BROMOlsY AdGo BRABOITT Afdhdho :

(A) anoedadd

(B) exruddayjony

(©) sporal

(D)  ©an&BESOaIOTTdhE
sBuflatiLeS &PidhIM [elwom mdl :
(A) @andMd] (B) Gunocoqd]
(C) djadem (D) 080U

spomy i@ Qisds - &lvancd aemdavyend
@OM}EUOR|SIMN dorianl :

(A) =i oo emalmosnid aleo

(B) mofta o)mEd oaw e

(C) . Bxesoenud - maosd

(D) adlrvosrud Mm@ eanEniaIdl Ae®

G2ltloals] C.oIRH6d: :

(a) eUMORS (i) BHoOWOMHAEID®
wilel

(b) oodendlud (i) @eATIR Uilal

(©) onepomI émpl (i) EPeM Udlel

(&)  (a)-(iid), (b)-(id), (c)-()
(B)  (a)-(i), (b)-(i). (c)-(ii)
Q) (@)-(iid), (b)-(), (c)-(i)
(D) (@)-(1), (b)-(ii), (c)-(i)

melglaigieaualad almie Muoomid:odls,
@Jalso @ildl o Clo)e.

(A) eammdyile mmygeoe Glaise

(B) dlmacumns @lalso

(C) ellatdynll @lalso

(D) salloflewsw @alse
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20.

21,

22,

23.

24,

Proportionate volume of Carbon dioxide in
the earth’s atmosphere :

(A) 78.08% (B
©) 0.93%

20.95%
(D) 0.03%

Representative fraction for the map scale
Temtobkm:

(A) ,1:5 (B) 1
(© 1 : 500000

: 500
(D) 1 : 50000

Lithosphere includes :

(A) Crust and upper mantle
(B) Continental crust only
(C) Crust only

(D) Crust :;md entire mantle

Sessions of Indian Parliament are summoned
by :

(A) The Prime Minister
(B) The President

(C) The Speaker

(D) The Chief Justice

A bill means :

(A) A Law in draft form

(B) A decision in draft form
(€) A judgement in draft form

(D) An account in draft form

ENG+MAL
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25.

2&.

27

28.

29.

Every day the sessions of the Parliament in
India begins with :

(A) Zero Hour

(B) Deliberative Session

(€} Question Hour

Calling attention Motion

The Indian State having Bicameral legislature
is :

(A) Kerala
(C) Orissa

(B) Tamil Nadu
(D) Bihar

The joint sitting of Indian Parliament is
presided over by :
(A) The President of India
(B) Speaker of Lok Sabha
Chairman of Rajya Sabha
(D) The Prime Minister of India

The First General Election in Independent
India was held in the year :

(4) 1950 (B)
(C) 1955 (D)

1951
1947

The First Chief Justice of Independent India
was |

(A) Justice Y.V. Chandrachud
(B) Justice H.]. Kania
(C) Justice 5.A. Bobde
(D) Justice K.N. Singh
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M o t10dIead msamamadlon aoemd
dinaujo EBoElENMN
(A) mfleno @pccidh apers
(B) 1dal0 eruaHmle6S@IeN
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[l GO Y -
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(B) eeioased aiallenoosm
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(D)

ROERITVEO BRALYAHMIET

oM (plwomaeleoen.

M@ oMl EDEIOTT HAJIMm)-
omonsmmHSia] Mmsmal :

(A) 1950 - ewoemy  (B)
(C) 1955 - mjoemy

1951 - eloem
(D) 1947 - ewo6m

merm omylea @aeieem aflad
g epdlond:

(A) amgflad eea. all. ooyl

(B) &efld agal. om. sl

(C) mgflord agay. ag). esruceniean

(D) gl . ag)id. milows
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30.

31.

32.

33.

34.

The Central Cabinet meeting in India is
presided over by :

(A) The Speaker

(B) The President of India
(C) The Vice President
(D) The Prime Minister

Who is the present Chief Justice of India ?

(A) Justice Y.V. Chandrachud
(B)
(C) Justice D.Y. Chandrachud
(D) Justice U.U. Lalith

Justice N.V. Ramana

The disputes between two states in India are
heard by :

(A) State High Courts

(B) The Supreme Court

(C) The District Courts

(D) Special Courts

The Officia] residence of the present Prime
Minister of India is :

(A)
(B)
(©)
(D)

Number 10 downing street
Teen Murti Bhavan

7, Lok Kalyan Marg

9, Race Course Road

Unicameral Iegﬁlature exists in :

(A)
(C) UsA

Great Britain

(B)
(D) China

India

ENG+MAL
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35.

36.

37.

38.

39.

What is not true of Lok Adalath ?

(A)
(B)
(©)

People’s Court
Voluntary judicial system

Dispose cases through negotiations

Unaffordable for ordinary man

Which of the following is the correct
representation of a unit in Physics ?

cms

(D) Newtons

(A) Kelvin
(C) Pa

What would be the height of a mercury
column that can produce a pressure of 1
atmosphere ?

(A) 76 cm
(C) 26 cm

46 cm

(D) 1cm

Name the metal alloy which is mainly used
for making permanent magnet.

(B)
(D) Alnico

(A) Bronze Brass

Iron

The ability of a material to pass magnetic flux

lines through it is called :
(A) Permittivity
Permeability
(C) Penetrability

(D) Viscosity

ENG+MAL
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A
GRIDd:  @PRIRIGWIIEMm
wdlegooma
(A)
(B)
(©)

auoeniauil ol

FNHIQ BHOSTIWOENY
aomab aeimPe® alaIOWIsT

218 2 dnglees Cnmidhibes @lde]
dhila flaeniomy
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21)OUOS OdHISIOTITlENIT §IVDBRBTD

oemigisglad wdwow  dolaicd
agyrycicfidlemmal gy ?

(A) Kelvin (B) cms

(C) Pa (D) Newtons

(ID96M @R AdGATHM) ®Iejdow
0dgo penEoeNUNM BRI endeadl
@alerilad pwro :

(A) 76 cm (B) 46 cm

(C) 26 cm (D) 1cm

aradl a0 T VS 6 o) ] d cmoem @Y In)
OAICWOUIlHHIM o KLIM BRIDATUEMC !

(A) @os (B) ollals

(C) somymy (D) @rcdiesan

HONTWh  alQB TS CORIBOS HSHM)
aflsialomes &y cumimynied evlal :

(A)  eadddlald)
(B) easddloéniald
Q) eamESladg

(D) adlmiganomilgl
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40. Choose the correct graph that represent a | 40. oudleoclmaeiel@lsniom almvazaliod
stationary object.
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41.

42.

43.

44,

.(D)

A body is undergoing uniform circular
motion of radius 10 ecm. The magnitude of
its maximum displacement will be :

(A) 0cm (B) 10 cm

(€ 20cm (D) 40 cm

From the following select a unit that can be
used to express pressure,

(B) newton/cm

(D) bar/em?

(A) pascal/cm
(C) kgwt/em?

The average distance between earth and sun
is known as :

(A)
(B)
(©
(D)

Solar unit
Astronomical u.l_::it
Parsec :

Light year

A thermos flask usually used to prevent heat
loss by :

(A) o conduction only

(B) convection only

(C) conduction and convection’

conduction, convection and radiation

ENG+MAL
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SAT
41.

42,

43,

44,

A

10 cm @pomes ayEm aldlulolieges eoy
QU@ acudemg aleinasilasm. g
calmdmcdley’ codsdl4ndod®  H¥oym

alemorudd] qunomonmao ag)l® ?
(A) Ocm (B) 10cm
(C) 20cm (D) 40 s:m

®OOY mnm:,;ﬁncumﬂm% aq{;m @;arﬂgam

AREHIIND HnIBUIlennIIM®Y :
(A) pascal/cm (B) newton/cm
(C) kgwt/cm? (D) bar/cm?

guilaiidd aflmje cujyTielanitn Ko
B0 ERCIRHRISH Gald :

" {A) afmoéoﬁ!a oarflg

(B) mmfhfmlémarmﬂm el
(C) A10BOAVE

(D)  ted@oud cuavio
OBPEDOMS gQomid mummm)_mmﬂ 3

(A) maalmam*ﬂmaggg @2alMat'So
d)OQIAe0M)

(B) motUadmMo U¥lwes ®oaimalSo
EJOWROIY
nloeIMae, m:oc:-_lnnmn ! agyoriau

auleigs @moalMadiso &p@aﬂm
aldaino, MotUalMo, flalesmoe

agmial  aidiogs ®2alMadSo
EJ0TeDIT),

(©

(D)

14 PO



Class - VI
45.

46.

47.

Siphon is a device that works on :

(A) Hydrostatic pressure

(B) Atmospheric pressure

(©
(D)

Osmotic pressure

Thermal pressure

The position time graph of a moving object is
given below.

Pasition I
10m Z0m 30m 40m =<

Z 3 4 5 6 X~
Time in seconds

o 1

Its average velocity of motion is :

(A) Dm/s (B) 5m/s

©) 12m/s (D) 15 m/s

A piece of sodium is put in water. The
resultant solution will be

(A) acidic (B) basic

(©)  neutral (D) amphoteric

ENG+MAL 14

SAT
45,

46.

47,

A

O6MEan0enlonag (I demmesla’
@DWONDMIW (Imll@OTvo

(A) (BIUs odgo
(B)
(©)

(D)

@aRmdled odGo
aomicaodlss adgo

moad mdGEo

alpImanowl
oW  (oad

80} mmallen
MUNLeeg  quodm
S O BN

MO TI
1tm 20m 30m 40m =

&0 cumiaallen vaeoved (nleuwo :
(B) 5m/s

(D) 15 m/s

(A) Om/s

(©) 12 m/s

B80) H210Q Hademo gavoniwo Tl ) [
mlessallolomd adlenym asowadles
e @RIdleao.

(A)  @omilaudle (B) o0

(C) aldafay (D) sewwWidn



Class — VIl SAT

48. Which among the following mixtures cannot
be separated by sublimation ?

(A) Camphor + Common Salt
(B) Naphthalene + Sand
(C) lodine + Ammonium chloride

(D) Dry ice + Iron filings

49. Which among the following is false regarding
fuels ?

(A) Liquid fuels burn more completely
when compared to solid fuels

(B) Fossil fuels are non-renewable sources
of energy

(C) Anideal fuel does not produce any toxic
substances on burning

(D) CNG is an example for a non-
conventional source of energy

50. Which among the following are chemical
changes ?

(i) Electroplating
(ii) Photosynthesis
(i) Rusting

. (iv) Decaying of fruits
(A) (i) and (i) only
(B) (i), (iii) and (iv) only
(C) (i), (ii) and (iv) only
(D) ), (i), (iil) and (iv)

ENG+MAL
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48.

49,

50.

A

21j0es maHoidlanymm dlvylmeneelad
ap@lam®oem’ ST I HmMEHIEL6S
eAAGSHOMR MUOUNDOHOBBD) ?

(A) Mgﬂgﬁhu + Q‘H

(B) maoadmefldd + memad

(C) mrewoadld + @reademwo
BN

(D) o8lw eagy + eaymi ofleeod

pawmemeg  mosmiauwlal  emgow

(orimocumee 7

(A) 6o Howmeanano] mMoIR®ALo
£21QPEMIOth [AQL DMULMETBIDHE)
dldbg] RIBINMDIENBOCLIOO)ENS.

(B) aflensio mid:amomonionm 9vdo®

@(MIB TV BHAOEM @anomil@d
EDMLMETRR

(C) wmelsneauomd oEma HMLMETBR
aDO RO U NI® O UD
S6MBIHITIL).

(D) ol. ag)@. & cloomUERE® OIIBR
@@ qlmy HROANMEMDOEIT).

@8 melslofldsnmalaid eormogoe
APODOOSE ?

i) eeuRY® calalmo
(i) (IHOUD MIoERYRHEMO
(iif) GRI0aD Moo

(iv) alvemstd afoymnal,
(A) (ii) & (iii) @oumo

(B) (i), (iii) & (iv) mo@o
(C) (i), (ii) & (iv) @omo
(D) (i), (i), (i) & (iv)

P.T.O.
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51.

52,

53.

54.

Which among the following is best suited to
make handles of cooking utensils ?

(A) Bakelite (B)

(D) Teflon

Nylon
(C) PVC

Which among the following metals possesses
the lowest melting point ?

(A) Aluminium ' (B) Galium

(C) Tin (D) Zinc

Which element gets its symbol from the Latin
word Stibium ?

RN b b

(A) Antimony Selenium

(B)

(©) (D) Tin

Silicon

The WRONG statement relating to the metals
Copper, Mercury, Iron, Aluminium and Tin
is:

(A) All of them are sonorous at reom

temperature.

(B)

Aluminijum is not corroded completely
al room temperature.

Both Tin and Copper are malleable at
room temperature.

©

Copper is added to gold while making
gold ornaments.

ENG+MAL
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SAT
51.

52,

53.

54,

A

apales melslefdleanymaaidd aloald,
®eMmEeS o fdleid (Idaleea apgOe
@RMICRORIMOWEDD) ?

(B)
(D) ©56qQo6Nd

(A)  eeuseenald OOMERI6M

(C) ol all. ol

ajaies melsloldenmauaia ealrfe

OO0 HIONNER ERINaNERE ?
(A) mwepddiloo” (B) wmoell@o

(C) Aad (D) o

gflenflwo agom angl@ aieedicd almjo

liwldho eidla) mpelsmen ?
(A) @@loer (B)
(C) mileflenend (D) <ld

amoellmieo

C00d, endanidl, oayml, erepdiwoe,
sl agmi eelvansB@  uoerumuilal]
OBM{OW ([ IMImIQIMEW®) ?

(A) oowomem @moaiafleielied sauemeloo

enoemodid] iadudla fleaiomg.

ruowoasm @oalmileinia erapdlofwo
aldemao@ieo  GRIaOMOCEWIMY
allew@aodn)ilg).

(B)

(C) auoworem moalcilaieiah esoqd, Slid
m)sedl@  galvanemBeg  @ndlal)

alRmD] ®H]SIBEaHn0Mm Mowleno.

(D) mudeposesmend@ nildaeniemiodd
B EREMMIOSI0 Gdhda|d dhyS

e 2IRL600 6



Class - VIll

55. Which among these chemical reactions

56.

57,

58.

produces a white colored product ?

() KCI+AgNO, —» AgCl+KNO,

(i) Ca(OH),+CO, —» CaCO;+H,0
(i) 2Mg+0O, — 2MgO

(iv) CuCO; - CuO+CO,

(A) (i) and (i) only

(B) (i) and (iv) only

© (i) (ii) and (iii) only

©) (@only

Which among the following molecules
contains three atoms ?

(A) Chlorine
(C) Ozone

(B)
(D)

Hydrogen
Sodium

Which among the following metals are less
dense than water ?

(A)
(B)

(&)

Lithium
Sodium
Potassium
(D) All the above

x and y in the balanced chemical equation
3Cl, +x KOH — yKC(ClO, +5KCl+3H,0 will
be:

a 1&1
(C) 6&1

(B) 3&3
(D) 6&6

ENG+MAL
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55.

56.

57.

58.

A

nadel@lenm eom (eloudommsmagicd
OGO mlomes palmmo
melsymaolewa) ?

() KCl+AgNO; — AgCl+KNO;
(i) Ca(OH),+CO, — CaCO;+H,;0
(ili) 2Mg+0, - 2MgO

(i) CuCO, — CuO+CO,

(A)
(B)
(€)
(D)

(i) & (ii) @o@®o
(ii) & (iv) momo
(i), (i) & (iti) @o@o

(ii) 200

anaies mefsladleaymaalad oy
EDQEBH @PSAHEIR EXBIBEWD ?

(A) agocilad (B) &R
(C) &oeIVI6END (D) emofl@o
A1AIOS tn &i'ds] @fl @& 86 30 o f] @
REIBOH SN GD oo (3@ & ) O ETETD
GRIDAOEA) ?

(A) eleflwo

(B) emvondlwe

(C) ®atog0myo

(D) ol alosmmame)do

3Cl,+xKOH - yKClO,; +5KCl1 +3H,0
agym qudledla] eom  quacodadid x,
y agmicumyes aflaisd agmmoaidienio ?

(A) 1&1 (B) 3&3
(C 6&1 (D) 6&6

P.T.O.
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59.

60.

61.

62.

Marble is used as a buﬂding material. The
elements present in marble are

(A) calcium, carbon and hydrogen
calcium, carbon and oxygen

(C) carbon, hydrogen and oxygen

(D) chlorine, carbon and oxygen

Mushrooms are included in the kingdom :

Fungi (B) Protista
(C) Monera (D) Animalia
Peristalsis occurs in
(A) Nervous system
(B) Respiratory system

Digestive system
(D) Reproductive system

Choose the pair which includes only
vegetative propagation.

(A) Grafting, hybridisation
Layering, grafting
(C) Hybridisation, tissue culture

(D) Budding, hybridisation

ENG+MAL
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SAT
59.

60.

61.

62,

A

oddls aildmosmaloy Hale@orilanimm &ry
aumimycussm’  acdenlld. oodenlgla
@oseodlW@lanym mielserid

e,

(A)  @omdmyo, Hodenierd, eeaniUuERM
(B)

(©)

BMMYo, dadeniend, EodsileRm
H0denlend, émmm.umrﬁﬁ, @0amilzRnd
(D) agodid, d:odenterd, eoasmimad

)t HRBen|SIM @lotiiwe @M :

(A) anomeR (B) @03y

(C) emoadlo (D) @noilenellw
Oaddlgodmilomd’ msenyme. &
@6,

(A) moadl aaioun

(B) wamom aljuon

(C) GaOm aljumn

(D)  (doydejoam ayaimn

HOW] &> (@@ ajorme @O (Mo

2ReH00821 820 ENEETMSIHE .
(A)
(B)
(€)

aglenmd, cudw musmemo
alaflouiend, aglendd
QU qUEReMo, Sl dtd.old

(D) oldise agdendd, ady quemmsmo



Class — VI SAT A

63. Match the two columns and choose the | 63. @6and e0gemBw(d Mmarlad @.aldlonlS] G.oldwE
correct option : dl@ow Goaiautd Aflme6TTIHS|Held:.
(A) (B) (A) (B)
(a) Sericulture (i) Honey-bees (a) emded®ayd (i) emisy
(b) Horticulture (i) Fish (b) Ganodeidod (i) ooy
(c) Apiculture (ii) Rabbits © ogolledad (i) oo
(d) Pisciculture  (iv) Silkworm () alfletdaod (iv) algmuddolie;
(v) Fruits and (v) ad¥o, alajsndl
vegetables
(&) (@), B, (©-Gv), (d)-6) () (@)-(i), B)v), (©-v), (@-0)
(B) (@)-v). ©)-() (O-(v), (-G (B)  (@-(v), B)-G), (©-(v), (d)-i)
Q) fa)-(id), B)-(v). (c)-(iv), (d)-(ii) () (@), (b)-(v), (c)-(iv), (d)-(ii)
D) (@)-Giv), b)), (©)-(1), (d)-(ii) (D) (@)-Giv), B)(v), ()-(0) (d)-(id)
64. A double membrane bound organelle is : 64. EORg MIMODER CHIRICI0 @RENT !
(A) Nucleus (B) Vacuole (A) adtoo (B) @anmo
(C) Ribosome (D) Lysosome (C) ee0eMIoeToe (D) SRIETIEMISo
65. Choose the correct statement. 65. ABQOW A IMI®OCLMN BAOETHSIEN .
(A) Carl Linnaeus is the father of Botany. (A) o ellemami auaryceomiiaane
adfl@ocuoery.
(B) John Ray used the term ’species’. (B) emoem ¢ mMiafladfloy’ agym alBe
' Salewoudl o).
(C) Carl Woese proposed five kingdom (C) o cuony @oeml’ @lowalo
classification, cudcdlseemo ool
(D) Charakan proposed binomial (D) alodad aflmom ol AL ®]]
nomenclature. e Oflada:d).oll.
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66.

67.

68.

ENG+MAL

SAT

Choose the incorrect statement.

(A) Assimilation is a stage in the process of

nutrition.
(B) Kidney is an excretory organ,
(C) Skin is not an excretory organ,

(D)

Haemoglobin carries
carbon dioxide,

oXygen and

Which one of the following is not an
agricultural practice ?

(A) Hydroponics
(B) Aeroponics
(C) Polyhouse farming

(D) Tissue culture

Observe the flow chart that shows the levels

of organisation. Find out A and B from the
options.

Cell —> A ———p
Organ —_ B e
Organism

A - Tissue, B - Cell organelle
(B) A - Cell organelle, B - Tissue
(C) A - Tissue, B - Organ system

(D) A - Organ system, B - Tissue

20

66.

67.

68.

wdgoam i @leesTSIH6]E,

(A)  GrJoauem (@@l B®) “RISMmasn]
mootdlénémo.

(B) quyee 8r) Ald®Rmoo@aladsm.
(C) e allrudgmoniwalo @og.

(D) aflemosgomild Qo MIROEMWYo
Hodenied Wik anmuilomays
Uaflonyomy,

230185 mAHDidleanmMueiad dyoadidla
BRLIOEME afy® ?
(A)  ©8anBLOEAIDENSd: TS

(B) af)@eooaaIosmlamy
(C)  eatdslatynmd anodises

(D) Slawy moda)d

sgismo melemtd mlallefla0im 3qf0
21088 walléenis. A, B agoria
B0atarmhgldd ofltmie &eeNEEmd:.

GdhOUbo  — A —
mRiU@ e —e B —
gl

(A) A -8l B - e&00000N0
(B) A - @#dUd0t0, B - dhel
(C) A -8l B - ool ajjoloun

(D) A - @ agoloun, B - del
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69.

70.

71.

72.

IPMisa:
(A) .Pest control measure
(B)

()

Disease control measure
Pollution control measure

(D) Pathogen control measure

Choose the option which includes only
connective tissue :

(A) Cartilage, Muscle
(B) Bone, Trachied
(C) Blood, Bone

(D) Muscle, Trachied

If the sum of a number and its reciprocal is 2,
then what is the sum of their squares ?

(A) 4 (B) 2

© 3 (D) 1

A mixture of 40 litres of milk and water
contains 10% of water. How much water
should be added to make 20% of water in

new mixture ?

(A] 4 litres (B) 5 litres

(C) 9 litres (D) 7 litres

ENG+MAL
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SAT
69.

70.

71,

72,

IPM agym@ &0} :
(A) &ls dlonmem oodwo
(B)
(©)

(D)

eon imem addino
aellaflansm alormsem aodoo

3NR00 cilmirmemn modno

GO HRl MO(@o PRSI @daladd
Bl OEEBINS L] H>.

(A) moemoud], galudl

(B) @rmudl, [Sodeslol

©

0&mo, @

(D) Galudl, Sesfla

an} (MooslyWlo @il 6 )
Q@ sbnamo@wie @ie 2 GR@OM
BROUROS UANETBYIOS s
ag)m@osny ?

(4) 4 (B) 2

< 3 (D) 1

aloeflo@wieo acussemilo@wio 40 egd
dlgwmewld oagae 10% pend.  ag)l®
OcUgso caidamomd 20% ecugso Ersedle
aljofle diglme 9emosancm e¥iagoe ?

(A) 4eligd (B)

(D) 7elgd

5 ellpd
(C) 9elgd

P.T.O.
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73. The figure shows a square of side 5 units and
A, B, C, D are mid points. What is the area
of the shaded square ?

Bl
A
D B
10 Sq. units (B} 15 Sq. units
(C) 55q. units (D) 12 Sq. units

74. If the cost price of 20 articles is equal to selling
price of 16 articles, then what is the gain
percent ?

(A) 20% (B) 25%
(C) 27% 30%
75. Which of the following is the simplified form
of Y0324 x 0.049
0.0021
(A) 6 (B) 60
0.6 (D) 0.06

ENG+MAL
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A

73. aflimaiad, A, B, C, D agias 5 @i
Uo) 88 =) Mo.2I®0OT 6
umemges  maby  enla3ie0806,
&0ja/lafidleoym  Uoa®ecwlef
almaaal og)ewoen ?

A

(A) 10 21 ool (B) 15 o1 ayenily

(C) 5.1 g (D) 12 a1 oy

74. 20 cvowmemgles oo aller 16
mowmemgyes allg alleiaiss meymowomd
BIO@ (MMOMo ag)® ?
(A) 20% (B) 25%
(C) 27% (D) 30%

75. aljues 6)dh0S )@ @) H6) }orn cufl @b
Jﬂ'ssi:;'mg eQ eleay tlalo agdl ?
(A) 6 (B) 60
(€ 0.6 (D) 0.06
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76. If 32543 is a 5 digit number which is exactly
divisible by 11, then what is the digit "%’ ?
(A) 4 (B) 5
{C) 6 o 7
77. If the sum of two numbers is 50 and their
difference is 10, then what is the product of .
the numbers 7 -
"(A) 500 (B) 550
€ 59 ) 600
78, (5890)2—(5889)2=__
(A) 11000 (B) 5889
(C) 5890 (D) 11779,
79. What is the remainder when (3581)2 is
. divided by 8?
(a) 1 B 2
(C) 3 (D) 4
ENG+MAL
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SAT
76.

77.

78.

79.

A

3x543 agmal’ 11 odoeng mletdatio
a0@|HO0MD HYIWIM GO} @OEMUSE TVas)),
mawom ‘x e UOIMeER @vdso

agyraxeny ?

(A) 4 (B) 5

© 6 @ 7

oMd MosUdhales e 50, ERUWINS
apmyome 10, Ep@OM  Moa)BHEINS
wiemmaoeio agim ?

{A) 500 (B) 550
) 590 (D) 600
(5890)%— (5889)2=

(A) 11000 (B) 5889
(C) 5890 (D) 11779

(3581)2 agymadlom 8 edkoend andl.oload
Aleatfso ag)em 7

(A) 1 (B) 2
(© 3 (D) .

P.T.O.
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80.

81.

82.

ENG+MAL

The figure shows a regular hexagon and a

regular pentagon put together. How much
is ZABC?

C

(&) 10° B) 11°

©) 12° (D) 13°

If an amount invested at compound interest
becomes T 800/- in 2 years and ¥ 840/- in
3 years, then what is the interest rate ?

(A) 5%
C) 6%

B) 4%
D) 7%

What is the ratio of areas of the square to that
of equilateral triangle in the figure given
below ?

(A) 2:43 (B)
C) 2:.43

J3:2

D) 2:1

SAT
80.

81.

82,

A "

(oo ad V@S BIR U0
Toanlemigmalio ¢aldemial.o/I@leniam]
£LABC ag)meoen’ 7

&

(4) 10° (B) 11°

€ 12° (D) 13°

&iSia el semaenossimm e} alavsilaled
mfledailo) o 2 QUbatio dboens 800/-

®lal®lo, 3 udatlo eoenE  840/-
Ot@mowl. aleflw ofless ag)@@osm ?
(A) 5% (B) 4%
€ 6% (D) 7%

mldlanym alll@owiea  MAOGIR
(@esmosmandlamoie ruaaimeariagio
alegisniactd manlenss @RowEnIMWo
af)(moeny ?

(A) 3.3
© 2:43

(B)  J3:2

(D) 2:1
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83. Which of the following is the simplified form | 83. 2lUeS 605 @07 1] 96 3O Ll Wl D
(54)° x (s5)° (54) x ()
of 5 —= ? 6N AIRlMI0 o af® ?
(52)° x (54) (52)° x (s
(A) 52 (B) 125 (A) 52 (B) 125
1 1
© > D 3z © =5 @ 3
84. The figure shows a trapezium with parallel | 84. @i @aidse ™ 18 ol @emld
sides of lengths 2, 10 units and area Al |en |88 Plose@TEHl6D RMHORW
18 sq.units. What is the area of the shaded umemgies olgamd 2, 10 ©oem.
triangle ? &0yl alde03m (@es06mamlen
n..lmgﬂg(ﬂ ag)maosny ?
2 Livh
) 10 ) 10
(A) % sq.units (B) 5 sq.units (A) 3 squnits (B) 5 sq.units
(© 6 squnits (D) 9 sq.units (C) 6 sq.units (D) 9 sq.units
85. The shaded portion in the figure is a regular | 85. afil@EMl@ H0ie]lalldlenme oy oo
pentagon and the sides are extended ta form AJEIRRIERBOETS. @OOUWIOS UGosTRR (g
a triangle. What is the value of angle x ? el er) (@lessemo oidoil ofidleaim.
X ag)Ym eoemant agymooen ?
(A) 72° (B) 36° (A) 72° (B) 36°
() 54° (D) 50° () 5¢4° (D) 50°

ENG+MAL
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86. The figure shows a circle of radius 3 units,
What is the length of the side AB ?
Vs
A
(A) 3 units (B) 3.1 units
(C) 2.9 units 4 units

87. When 5% of a number isadded to the number,

we got 60. What is the number ?
(A)

30 (B) 40

50 (D) 70

B8. A mobile phone has a 4 digit number lock.

How many attempts should be made to
unlock, if the first two numbers arc 3and 8 ?

70 (B) 80

C) 90 (D) 100

ENG+MAL
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A

86. ofimanfldd 3 @il EHAAISS (Lo
merldlaaim). AB sgym aodaio alge

Qe ?

3.1 unils

(B)

(A) 3 units

(C) 29 units (D) 4 units

87. an) Moayewos maled @eanlad e
aglwaajotd 60 &gl auoay apmoe ?

(A) 30 (B) 40
(© 50. (D) 70

BB. &0} eoteoneudl eGandtemlad moel
RTINS MoM 0035 HENE. BPEIEEH
@eng’ Moalis@ 3, 8 PRwom weaociuf]
@ ajmieis aneaRdd msesloocd
GO0t MIOEHOMD dflaie ?
(A) 70 (B) 80
() 90 (D) 100
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'89. Ina calendar, a square of four numbers is | 89.
marked. If the sum of the numbers is 56, then
what is the largest number ?
(A) 10 (B) 11
) (D) 18
90. Ticket rate for entrance in a park is ¥ 10 fora | 90.
child and ¥ 20 for an adult. If ¥ 900 was
received from 50 persons, how many children
were there ?
(A) 10 (B) 11
) 12 (D) 13
-00o0-
ENG+MAL 27
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MoBHBINS MY 56 MM, afRQlo
el ol ag)@woerT ?

(A) 10 (B) 11

(Cy i1y (D) 18
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(A) 10 (B) 11

(© 12 (D) 13
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